Trigonometry — Joysheet 2 Name: Saw{ O@a A
MAT 145, Spring 2025 — D. Ivansié¢ Covers: 6.3, 6.4 Show all your work!
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1. (9pts) If sinf = — and @ is in the second quadrant, find the exact values of all the
trigonometric fum tions of #. Draw a picture. s G - 2
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2. (Tpts) The terminal side of angle @ is in the third quadrant and lies on the line 32—5y = 0.

Find the exact values of cos# and cot #. Draw a p:(,turc
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3. (8pts) Sketeh angles in standard position with indicated radian measure.
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4. (8pts) Indicate both the radian and degree measure under the following angles. (Use
equally-spaced lines to help you determine what the angles are.)




5. (8pts) What is the distance along Earth’s surface from Murray, KY, latitude 36°36'34"N,
to the South Pole, if the radius of Earth is 3960 miles?
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6. (8pts) A satellite iz in geostationary orbit if it is always above a fixed point above the
equator, which means it rotates around Earth at the same angular speed as Earth. This

orbit is 26,200 miles from the Earth's center.

geostationary orbit?

a)

What is the linear speed of a satellite in
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(12pts) On a carousel, a rider sitting 6.75 meters from the center experiences linear

speed of 8 kilometers per hour,
a) What is the angular speed of the carousel in radians per minute?
b) How many revolutions per minute does the carousel make?
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